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WOMEN’S STUDIES
PAPER—1I

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Gender identify refers to :

(A) Activities carried out by women and men
(B) The role of women and men
(©
(D)

Behaviour and Attitude of female and male

An individual sees her/himself as female or male

2. Which article of fundamental rights describe ‘Equality before Law” :

(A) Article - 15 (B) Article - 14
(C) Article - 20 (D) Article - 16
3.  Gender refers to :

(A) Social classification of masculine and feminine
B) Biological maleness and femaleness

Natural phenomenon of sex

D) Ideological classification of male and female
4.  Pre conception and prenatal diagnostic act was passed in the year :
(A) 1991 (B) 1995
(©) 1994 (D) 2005
5.  Which type of feminism believe that oppression of women perpetuated by capitalism ?
(A) Marxist (B) Cultural
(C) Liberal (D) Radical

6.  Which of the following is not a “Gender based Violence” ?

(A) Female circumcision (B) Sati

(C) Female infanticide (D) Female infant mortality
7.  Who wrote the book “The subjection of women” ?

(A) Harriet Taylor (B) John Stuart Mill

(C) Derrida (D) Mary Dally
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2. YA AYHRI H R STT0] DM T8 FHMEA hHT IUH HIAT ©
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10.

11.

12.

Research design must contain :

(i) Statement of the problem
(if) Objectives of the study
(iii) Report of the study

(iv) Population to be studied
(A) (i) and (ii) only

(B) (i) and (iv) only

(©) (), (i) and (iv) only

(D) (i), (iii) and (iv) only

Feminization of poverty is related to :
i)  Women and men experience poverty and its effect in different ways

ii) Women are more negatively affected by poverty

~"

(
(
(iii) Economic globalization is one of the causes
(iv) Poverty is restricted to women only

(

A) (i), (ii) and (iii) are correct

(B) (i) and (ii) are correct
(C) (iv) only correct
(D) (), (ii) and (iv) are correct

The deficiency of one or more essential nutrients is termed as :
(A) Macro nutrient deficiency
(B) Micro nutrient deficiency
(C) Malnutrition
(

D) Anaemia

The goal of “Health for all” by the year 2000 AD was articulated in :
(A) Beijing conference (B) Alma Ata conference

(C) Cairo conference (D) Durban conference

Women’s work remains invisible because :
(A) Women concentrate in public sphere
(B) Women concentrate in formal sector
(C) Women concentrate in productive sphere

(D) Women concentrate in private sphere
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10.

11.

12.

Ty fesea & 21 =feu

(i) HHE kI faero

(i) Y % I]A

(i) oY T AR

(iv) Y T ST arel SHEqE (9reere)
(A) hae (i) T (ii)

(B) e (i) e (iv)

(C) e (i), (ii) T (iv)

(D) R (i), (iii) TAT (iv)

Tedan =1 Sfeh Heig © :

i) TR o1 Afeensti qon Eul o1 STIVE T 39 fafe YRR o1 Jd

(
(i) Hfgad fefar & s e €9 § yenfad 2t T
(iti) 3R STlThTUT THHT Teh HRUI

(iv) T7efan shae afeensli qe Hifia B

(

(

~—

=y

A) Q) (i) T (iii) T 1
B) (i) TN (ii) W&t €1
(C) I (iv) TEl T
(D) (i), (ii) T (iv) T ¥ |

T 1 34 TR i grves deil &) HH FHear © :
(A) Jeq Uifies v
(B) ¥&H Uiftedh 31vE

(C) FHUm

(D) i

" Toreen gt o fau'’ w1 e Sfwell srarear o foRd oW H g ge ¢
(A) SifSi ae e o (B)  3TCTHI 3T HHHOH
(C) RIfEU HHEH (D) =& gHeH

Tfgetsil 1 M T Tdl § Fiifh

(A) Hiegad e &5 H Thnrar W ¥ |
(B) wfead sirenfia &= H TR WAt ¥
(C) Tfecd Scare" o &5 | ekt Tt §
(D) wfgad =Tt &5 & werm et 7 |
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13.

14.

15.

16.

17.

18.

Women'’s role in economic development is first identified by :
(A) Ester Boserup (B) Ela Bhatt
(C) Simone de Beavor (D) Mary Ester

Women'’s studies as an academic discipline was developed first in :
(A) USA (B) France

(C) India (D) Pakistan

Match the concepts with the respective perspectives :

List-1 List-11
(a) Androcentrism (i)  Disparity between the experience of women and men
(b) Dichotomy (ii) Polarised distinction is made between two entities
(c) Gender insensitivity  (iii) Doctrine of male centredness
(d) Double standard (iv) Ignoring sex as a variable
Code :
(@ @ () (@
(A) Gv) (@) @) ()
(B) ) @) @) ()
(© (v) @) @) ()
(D) ) @) @v) @)

Among the following women who was not associated with “Women’s India
Association” :

(A) Annie Besant (B) Dorothy Jinarjadas
(C) Margaret Cousins (D) Madam Cama

“The origin of the family, private property and the state” was the work of :
(A) Maria Mies (B) Karl Marx
(C) Frederik Engels (D) Katte Millet

Among the following pairs which is not correct for sexual stereotyping :
(A) Women are shy - Men are strong

(B) Men are courageous - Women are timid

(C) Women are incapable of decision making - Men are Rationale

(

D) Women are aggressive - Men are dominant



13.

14.

15.

16.

17.

18.

afefer forentd # wfectisti st e sl Geiyed fohd gg=m :
(A) TR T (B) 3eT Wg () W 3serR (D) "0 I=X

T SThTRTHE STIRITEE & &9 H ufee s1erad geyey wal fasmfad gar
(A) JUET (B) WIH (C) urd (D) dIfeh&d™

frafafea sauronst w9 31 & 9fyed § faem wifsa .

get-1 -1l
(a) &9 UYd (i)  qeui qe Aigensti o THal | fouma
(b) fgursH (i) < 9&l o o fIUSl 1 geAhTo I
() feim srHagTeier (iii) G shisehdl 1 fog=
(d) TrRU HUETE (iv) TH Radl & &9 § I i ST
BT :

(@ B () (@
(A) @(v) () @ ()
(B) (@) @) (@v) @
Q) (@(v) @) @) @
(D) (@) (@) @v) @

T Afgenstl # | -6 Afee WRda Afeen §9 (S’ Sfed THIfqueH) w ey T ©
(A) T Ha (B) el foATSie™
(C) W Hisrd (D) HeH &M

‘S AT TR < el Mo Ml T i W TH A fRE i ©
(A) I Hied (B) hTel W (C) wefw s (D) el fafewe

frefafe § 9 FH- 3 SFgera ©ifEeEiin & gfe 9 3 7 €

(A) TfeATE Fssmeiet Bt € | -~ B AhaeR Bd § |

(B) TTUHRH BT - Hfead A |

(C) wfeard fofa o § - % qifehe B ¥ |
31877 Bt § |

(D) AU I @UE FIBAA Sl -  JEIIAHEIEA S|
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19.

20.

21.

22.

Gender mainstreaming aimed at :

(A) Incorporating gender in budgeting

(B) Incorporating gender in education
(C) Incorporating gender in political process
(D) Incorporating gender in development planning and process

From among the following examples identify the correct strategic gender needs :
(i)  Achieving equality of legal rights

(i) Reducing women’s work load

(iii) Increasing women’'s income

(iv) Acquiring equal opportunities in employment

Code :

(A) (i) and (iv) are correct
(B) (i) and (ii) are correct

(C) (i) and (iii) are correct
(D) (ii) and (iv) are correct

Assertion (A) : Approximately 500,000 women die each year from reproductive
causes

Reason (R) : Majority of women lack access to proper health care.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, (R) is the correct explanation for (A)
(C) (A)is true (R) is false
(D) Both (A) and (R) are false

Assertion (A) : Gender perspective into health care delivery improves the health of
both women and men.

Reason (R) : Health is a basic human right.
(A) Both (A) and (R) are false

(B) (A) is true (R) is false

Both (A) and (R) are true

(A) is false (R) is true



19. foT gy d H ©
(A) = ¥ fofT 1 e
B) e # & =1 wHE™
(C) USHifae dfshan § feiw s THE™
(D) SIS e sk o fashre § T <1 g

20. TrAfafad e & 9 fav =t gfie ¥ stewas Jfaal &t 9ga™ ST -
() SR ATRRT i FHEA TH BT
(i) Tl & o W H HH H
(i) wfeensti st g | gfg HA

(iV) USTIR o GHM TG UTH Al

(A) (i) T (iv) T&
(B) (i) T (ii) Tt €1
(C)  (if) TN (iif) =&t €1
(D) (i) T (iv) T €1

21. SIYFHLT (A): T 500,000 AfeAd Ffaed Fs HROIT § A | |
7% (R) : SfereRTe Afeenstl ot SUYa TS i <@ qh i Igd HH Tl ¢ |
(A) (A) 3R (R) IHI Ik
(B) (A) 3R (R) THI 3 ¥, (R), (A) I T ==A T
() (A) W § (R) Tod T
(D) (A) 3R (R) S TTerd €1

22. IYFHIT (A): TRA FI @I H A w0t gftc W SiTe 3 vfea a9 Iey SHi & @ee
1 GEIRAT T |

@ (R) : e ol HFE SR T |
(A) (A) 3R (R) SHI Terd
(B) (A) ¥ ¥ (R) Tewd B
(Q) (A) 3R (R) I W&l T
(D) (A)7ed ® (R) 9t T
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23.

24.

25.

26.

Assertion (A) : Males get higher education and quality education than girls.
Reason (R) : Gender gap in education persists in society

(A) Both (A) and (R) are true, (R) is the correct explanation for (A)

(B) Both (A) and (R) are true, (R) is not the correct explanation for (A)

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Assertion (A) : Education of girls has been identified as one of the most determinants
of social and economic development.

Reason (R) : Education liberates their mind, opens up new horizons, hopes and
opportunities.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A)is true (R) is false

(D) Both (A) and (R) are true, (R) is the correct explanation for (A)

Assertion (A) : Women’s work as family labour is under estimated.

Reason (R) : Census statistics accounts women’s family labour as productive work.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A)is true (R) is false

(D) Both (A) and (R) are true, (R) is the correct explanation for (A)

Women'’s agricultural participation is one of the challenging areas of women’s work
because :

(i)  Majority of women are employed in the unorganized sector
(i) Women workers get lower wages them men for the same job
(iii) Female workers are not provided with facilities such as maternity leave

(iv) Women workers are trained in modern technology

Code :

(A) (i), (ii) and (iii) are correct

(B) (i), (ii), (iii) and (iv) are correct
(C) (), (ii) are correct

(D) (iv) only correct
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23.

24.

25.

26.

SIUFYT (A) :  TASHIA! Y 31T TSh 3o A T[UIh 18T U6 it € |
% (R) : ot H foren 6t gfie ¥ fon =) gfie § swm &1

(A) (A) TN (R) I T T, (R) (A) I Hl =A@ |

(B) (A) 3R (R) T TR ¥, (R) (A) I T =T 7 B |

(C) (A) 3R (R) T Tt 7|

(D) (A) 3R (R) ST Terd ¥ |

MYFIT (A) : SR i Tnen Grafores qen enfefer fasma & fafis fuRei § @ e am
TR

% (R) : foren Ser feATT 61 SER ST © qen AT fafas, STeid qen STaeR Eietdt B
(A) (A) 3R (R) T T2 |

(B) (A) 3R (R) SHi Tera 1

(C) (A) W&l ? (R) Terd 1

(D) (A) 3R (R) 3 W& T, (R) (A) ! Hl A& |

ST (A) : BT €9 H Afeelsil o H hl HA ST S ¢ |

7@ (R) : SO HifeTeht Afgensti & el 99 I SAeh B B AT L T |
(A) (A) 3R (R) T T2 ¥

(B) (A) 3R (R) S Tera

Q) (A)F T (R) T g

(D) (A) 3R (R) 3 W& T, (R) (A) ! Hl A& |

)
)

Afgensii w1 HT H wrierl fecnsii % e w1 T A &  :
() Tfeekie Afgad ewwfed &= H HERd §

(i) TH & wM F fau vfeen gt o 7w *t s1den 7 = faerar 7
(iii) Afee gfHent S TH Glaemd S8 y9fa st T8 fier |
(iv) Tfeen gffehi sl ey Teh-tfer freror feam s 7|

HIg:

A)  (Q), (i) T (jii) TE ¥

B) (i), (ii), (iii) T (iv) T&l T |

(©) (i), (i) T &

(D) A (iv) TEl T

1v

(
(

1
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27.

28.

29.

30.

31.

Assertion (A) : Woman as a mother is praised and glorified as a contributor to
children’s well being.

Reason (R) : Domestic chores are seen as an “essential” and natural attribute of
woman.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)is true (R) is false
(D) (R) is true (A) is false
Match the following judgements and type of crime :
List-1 List-11
(a) Bhanvaridevi case (i) Custodial rape
(b) Mathura case (ii) Sexual harassment at work place
(c) Vishaka case (iii) Gang rape
(d) Shahbanu case (iv) Divorce
Code :
(@ @B () (@
(A) @) @) @) (i)
B @ @) (Gv) (i)
© @ @ 3§ (i)
(D) @) @ @) @)
World AIDS Day is celebrated on :
(A) March 8th (B) November 10t
(C) December 15t (D) March 11th

Under Muslim personal law the minimum age of bride must be :
(A) 18 years (B) 15 years
(C) 17 years (D) 12 years

Degradation of natural resources is manitesties :
(i) Disappearing forest

(ii) Deteriorating soil condition

(iii) Depleting water resources

(iv) Disappearing urban slums

Code :

(A) (i), (ii) and (iii) are correct
(B) (i), (ii) and (iv) are correct
(C) (ii) and (iii) are correct
(D) (iv) only correct
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27.

28.

29.

30.

31.

3fiwmeT (A) : TS ol Tl Bl oA T aTell o &9 H geifaa qor Afedr vfed foa
TR

7% (R) : BT HTH-HTS ! Afgenati & Afard qe yha o & 9 § @1 S 2

(A) (A) 3T (R) S w&t €1

(B) (A) 3R (R) S Tera

(C) (A) W § 3R (R) Terd B |

(D) (R) ¥R T (A) Ted T

Trafafea fofai 9en sty & Yol =t faesy .

get-1 ger-11
(@) ARl <l HE (i) RETT TR
(b) HYU HKH (i) o TH W I Icdre
(c) Toroman w9 (ili) EfEh AR
(d) R %" (iv) AT
Fig:
@ b)) () @
(A) @ @) @) ()
®B) @ @) (v) (i)
© @) @ @) (@)
(D) @) @ @) (@)
forva wew feo™ a0 e S ©
(A) 8 &l (B) 10 eI <l () 1 feuwer =l (D) 11 6= @l
g Safed A o 3T=Id foaTg o 99 9 ot IAad 37 fohat 3t =1 :
(A) 18 |l (B) 15 @i
(C) 17 @ (D) 12 §@

JIhfeh TATEHT 1 IS T T 378 9 e Bl &
(i) = o1 @ B

(i) f R feafa =t faspfa (e

STl dETE St e

A) (i), (i) T (iii) FeT 1
B) (i), (ii) A (iv) TEI 1
) (11) SRl (111 F@%I
D) v) T&l 2|
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32. Match the following Ecology movements and its place of origin :

(a) Appiko movement (i) Kerala
(b) Silent valley (i) Madhya Pradesh
(c) Narmada Bachao (iii) Kenya
(d) Green belt movement (iv) Western Ghats
Code :
(@ @) (o @@
(A) Gv) (@) @) (@)
(B) (v) (i) @) @)
(© @) (@v) @) ()
(D) G@v) (@) G (i)

33. Match the Books and Authors :
(a) Sexual politics (i) Shulamith Firestone
(b) The dialectic of sex (i) Kate Millett
(c) Sex, Gender and Society  (iii) Juliet Mitchell
(

(d) Women's Estate iv) Ann Oakley

Code :

(@ B (© (@)
(A) @) @ (v) (i)
B) @ @) (v) (i)
Q) @) (@v) (@) ()
(D) (@v) (D) @) ()

34. Among the following pairs which is not correctly matched :
(A) Gargi - Women philosopher
(B) Sunita Williams - Sports
(C) Kiran Desai - Writer
(D) Kiran Bedi - Police officer

35. Arrange the chronological order of the following on the basis of the year of inception :
(i) National commission for women
(i) UGC women’s studies centres
(iii) National policy for the empowerment of women
(iv) National Rural Health Mission

Code :

(A) (), (i), (iii) and (iv)
(B) (i), (i), (), (v)

(C) (i), (i), (iii) and (iv)
(D) (iv), (ii), (iii) and (i)
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32.

33.

34.

35.

Fr=fafaa giftafa Ar<icql 9o 37 3 & Tl sl fHersT

(a) bRl Stider (i) HA

(b) WTEie Sl (i) T g
(c) HaT = (iii) AT

d) N ST ST (iv) afe= e

U
D

a) Yegsa difafes
)

(A) It - cnifes wfgen
B) gfa faferm -  ww
) foor Samg - wE®
D) T o - e Afusmry

Frefafead o g 39 & s 3fte § afied ST
()  wfgensi o1 UL M

(i) 7 S € Afgen eI ws

(i) AT FLKITRIOT Bl AL i

(iv) T AT T T
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36.

37.

38.

39.

40.

41.

Arrange the International conferences of women from last to first :
A) Mexico, Copenhagen, Nairobi and Beijing
B

~—

(
( Beijing, Nairobi, Copenhagen, Mexico
(C) Beijing, Mexico, Copenhagen, Nairobi
(D) Copenhagen, Mexico, Nairobi, Beijing

Arrange the women development approaches on the Basis of their order :
A) Welfare, Development, Empowerment and Participation

B

~"

(
( Development, Welfare, Empowerment and Participation
(C) Empowerment, Development, Participation Welfare
(

D) Participation, Welfare, Development and Empowerment

Which of the following term is associated with “Female controlled female sexuality” :
(A) Helero sexuality (B) Androgyny

(C) Surrogate motherhood (D) Lestianism

Which of the following is not a Millennium Development Goal :

A) Promote Gender equality and empower women

B

~—"

(
( Improve maternal health

(C) Improve political participation of women
(

D) Ensure environmental sustainability

Which of the following movement was associated with ‘non-co-operation movement :
(A) Khilafat movement (B) Bhakti movement

(C) Chipko movement (D) Suffrage movement

Hunting and gathering societies were :
(A) Dominant (B) Egalitarian
(C) Submissive (D) Pluralistic
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36.

37.

38.

39.

40.

41.

Freferfed sauedia Afeet TR sl 999 9 3ifdq i g § Safeed i

A) Hfde!, SO, et qen st
B)  SifSi, Wi, o qen Hferhl
C) S, Aforent, I, Fet
D) I, Hferehl, Al sifsi

~

(
(
(
(

HH o YR T 37 Gfec T Surmi sl Fafierd Sifsa :

" gfgen g Tl afeen 39 Heidi 9 378 9 9 91 I GG ©

(A) Toamfamia (B)  r9AfeATTal
(C) wfafTger Age (D) SrEAfCTRd

frfafad § @ w0 a1 geenfs fawmg e 78 ¢ :

(A) T ST Te AfgeT iR 1 Hagd

(B) HIY TErEA gHR
(C) TsrHifa o wfgetedi ol wrfiert | dened
(D) wAfeRfUTeh Gredred sl e W

AN <o 9 f=fafad # 9 SF 91 ST=<ied 9 g o

(A) Taamrd <o (B) e eI
(C) Toehl em<rer (D) WHRS A<M
RIS qAT ThA o0 TS 390 & hd 9

(A) Yo (B) HHdTEIS! (Q) &4H
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42.

43.

44.

45.

Match the political leaders and their political party :

(a) Sushma Swaraj (i) Congress
(b) Mayawati (i) BSP

(c) Brinda Karat (iii) BJP

(d) Ambika Sony (iv) CPM
Code :

(@ @) (o @@

(A) @® G @) ()
B) @ (@) (v) (i)
(© i) @) @) @)

(D) @) (v) @ @)

Assertion (A) : Violence against women is an obstacle to the achievements of equality,
development and peace.

Reason (R) : Violence violates and hinders the enjoyment of human rights and
freedom in public and private life.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, (R) is the correct explanation for (A)
(C) Both (A) and (R) are false

(D) (A) is true (R) is false

From the following leaders who has not been acted as a prime minister.
(A) Benazir Bhutto (B) Sirimavo Bhandara Nayake

(C) Margaret Thatcher (D) Hillary Clinton

Among the following women nationalists who was closely associated with Quit India
Movement.

(A) Aruna Asaf Ali (B) Annie Besant
(C) Durgabai Deshmukh (D) Vijayalakshmi Pandit
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42.

43.

44.

45.

fr=fafaa eifaes SRt & 39 ToHifdes e 9 faam sifs .

(a) G TS () o
(b)  HrETE (i) stwgd
(c) Toier s (iii) o ST ¥
(d)  siferr @I (iv) Hrdre
HIT

(@ @) (© @
(A) (@) @) (D) (iv)
(B) @) (@) (v) (i)
Q) (@) @@ @v) @
(D) () (v) @) (i)

HFUFYT (A) :  Wfeenall st & Gaman oo qen wifd oifg § Tk 1oy 2|

& R) : o Arenfaenl qen gresttaer qen fs Sia & 3T Sl Wi hidl § ae
3ETES H T

(A) (A) 3R (R) 1 =&t €1
(B) (A) 3R (R) T ¥l €, (R) (A) T Hl =1 ¢
(C) (A) 3R (R) S Terd

(D) (A) ¥ T (R) Tord |

TTH ¥ HE A guH T % T H T W E
(A) SFSIR Y2 (B) TowHIet WeR Rk
(C) Wmfe =R (D) feerdl forien

frfafed & @ ®F 9t Tsgardt dfsen ' IRd BTl ieer’ ¥ 9§ 9 9 g W@ T
(A) STEUT AHE 3Tl (B) T S Hd
(C) e Tvmd (D) farsaeredt dfeq
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46.

47.

Instruction : Read the passage below and answer the questions that follow, based on
your under standing of the passage. (46-50).

The family is the basic unit of society ; this is because every one is born into a
family and nurtured through it. Nevertheless, in a large and culturally diverse society
like India, there is no one kind of family. They vary according to their class, regional,
geographical and cultural locations. Despite considerable variation in forms of family
as well as the norms mediating family relationships such as rules of residence after
marriage, lineage, divorce, widow remarriage, inheritance of property, monogamous
versus polygamous and consanguineous marriages, families in India have largely
ascribed to patriarchal ideologies. In the Indian context, the family is largely located
within the caste and kinship systems. These institutions, therefore, become important
principles of social organization and analysis. So pervasive is the caste ideology that
even the more egalitarian religious of Christianity and Islam have not been able to
make an indent into it. The continued hold of caste is largely because of the absence of
alternate social security systems ; caste and kin networks provide individuals with
support to meet life’s crisis and to celebrate marriages, births and deaths. Women's
sexual purity becomes a matter of paramount concern and a mechanism by which the
group maintains its boundaries. Such controls of women’s sexuality are exerted through
the family and kinship. The socialization process seeks to consistently discipline the
girl. She is given a low self-esteem, denied knowledge of her body and made incapable
of thinking of an independent future, apart from the family.

Indian families are characterised with :
(i) Patriarchal ideologies

(i) Caste and kinship system

(iii) Egalitarian ideologies

(iv) Culturally diverse

Code :

(A) (i) and (ii) are correct

(B) (i), (ii), and (iv) are correct
(C) (i) and (iii) are correct
(D) (i) only correct

In India there is ‘no one kind of family’, because :

(A) India is culturally diverse

(B) Indian Society is patriarchal
(C) Indian families are traditional
(D) Indian families are value oriented
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46.

47.

fFEor: 707 TN Bl Ui qoT S79 faaR STER ST §HTR STYIRA 37T 169 73 g9 &7
W T | (46-50).

IRER THIS ! T THTE, THHR HRU T o R FE IRaR H S0 A1 § a1 36k gh
Tt BraT § 1 I St a1 YRGS Hish e fafire T, 39 YR 1 SiE TRaR & g1 3
o, &, diiferss qen Fithfass i i gfic A fisl €1 afar & &9 ot gfie | fiermr qen
TRETRe dadi o 7L S Ui § SI9 foame o SW @1 & fem, 99, qame, gAfers,
T 1 ITACHHR, ThidaE oM sgiaars a0l T faame, YRa § Rar fugdsres
forameR R IR e #, aftar g sifa qen Aafed st oFewen & st & S g1 3
HEATE, 37:, TSR Fere qei faeeTovT o Hewaqul fHET= o St § | STd forameR gt
= ¥ T =7l o o 9T 9o et Y S o off sHeR TR T e e ¥ | Sifa
SRR TehS Sgd AU ATy ¥ o arifsrer qRan sqawensii & foshed o1 stum@ §; Sfa qen
et =1 STt =fed &l Siad | ST aTel Hehel a1 faaTe, S g o ST M | ofaad UeH
FIA | AN A A ufersrar Tats v 1 fawa 59 S § a9 9% WE o 99 g we
3Tt TS ST Tl © | Afeetiel o A Heei W ufar qen fedamdl gR = e S g1
TSRO ot Fishan sfcrehrish i STRIEA & TUTed S § | Sl 3T THM i €
AT, 379 YRR & FH § dfed T Sl § qe0 TRER & ST o709 W= 9fasy & 9 & 9
% fetu sterer T fea < § |

IR 9RaR &t fafired 79 9 %
() TugEHe fa=mem

(i) SIfq qe - REdeRt e
(iti) HHMETG! o=

(iv) wiwpfas afve

HE:
(A) (
B) (
Q) (
(D

i) e (ii) el ¥ |

i), (ii), T (iv) T €1
i) T (iii) TE ¥ |
Fad (i) T T

)
)

RA H Tk YR 1 hIs TRER T fHerdr, Fiifeh
(A) 9Ra ¥ Hiepfas afusa T

(B) R T fagemres 1

(C) WRdT INER TR T |

(D) R IRER Jog 9me 1
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48. Assertion (A) : Women's sexuality are exerted through the family and kinship.
Reason (R) : Women are socialized to have low level of self esteem.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true (R) is false
(D) (R) is true (A) is false

49. In India caste has a prominant hold because :

(i)  Absence of alternate social security

(i) Caste and kin networks provide individual support

(iii) Caste control women’s sexuality

(iv) Caste support to celebrated marriage, births and deaths
Code :

(A) (iii) and (iv) are correct

(B) (i) and (iii) are correct

(C) (i), (ii) and (iii) are correct

(D) (i), (ii), (iii) and (iv) are correct

50. Women are incapable of thinking of an independent future, because :
A) Women have low self esteem

B

~—

(
( Denied knowledge of her body

(C) Socialization process consistently disciplined the girls
(

D) Caste ideologies dominate in society ideologies

-00o0-
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48.

49.

50.

UFIT (A) :  Afeanedi & dH Fee qiEar a1 TafiEdert g =i =) Sl ®1

% (R): TigeTedl 1 3H M ol 19 TR WhR Hid & fay qasieor fwa
EisiES

A) (A) 3R (R) 1 &t £
B) (A) 3R (R) SHI TTerd ¥ |
C) (A) ¥l & (R) Tod B
D) (R) 9@l T (A) T |

IR B SfqaE 1 5igd Sl U ©, i

(i)  HrEISTR FaT & foeheq w1 19

(i) STfd qe AARTASRY T STeT Al STaetd IS HLc ¢ |
(iii) fa afeen & I Geei i R w R

(iv) Sfa foemg, 1 9o & STIRHI i gt el 7|

HIE:

(A)  (iii) T (iv) T& ¥ |

(B) (i) T (iii) TET

(C) (i), (ii) T (iii) & ¥ |

(D) (), (ii), (iii) T (iv) T E

TfeATd 39 s vfas & ar | Wer & foag e %

(A) Tfeeesl &1 STe-wmE 1= 2

(B) 39 YRR & IH ¥ dfed |

(C) TSI Gfeha Sfetehtsti sl THTEY ST i < |
(D) HATS H ST foramemT 1 9o 71

-00o0-
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